
 

 

 

 

𝑑

𝑑 𝑢⃗ 

𝑑

 

𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0 (𝑎 ; 𝑏) ≠

(0 ; 0)



 

 

𝑢⃗ (
−𝑏
𝑎

)

𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0

4𝑥 −

5𝑦 − 1 = 0 (
5
4
)

𝑎 = 4 𝑏 = −5 (
−𝑏
𝑎

) = (
5
4
)

 



 

 

 

 

𝑑 4𝑥 + 𝑦 − 6 = 0

4𝑥 + 𝑦 = 6

𝑦 = −4𝑥 + 6

𝑑

𝑑

𝑑

𝑑 𝑥 = 𝑛

𝑑

𝑑 𝑦 = 𝑚𝑥 + 𝑝

𝑑



 

 

• 𝑦 = −4𝑥 + 6

𝑚 = −4 𝑝 = 6.

• 𝑥 = 5

𝑛 = 5.

𝑚

𝑑

𝑝 𝑑

𝑦 = −2𝑥 + 3 𝑦 = 5

4𝑥 + 2𝑦 = 1

−2 0

3 5

𝑦 = −2𝑥 +
1

2



 

 

−2

1

2

 

𝐴(
𝑥𝐴

𝑦𝐴
) 𝐵 (

𝑥𝐵

𝑦𝐵
)

𝑥𝐴 ≠ 𝑥𝐵 𝑚 =

𝑦𝐵−𝑦𝐴

𝑥𝐵−𝑥𝐴

 

𝑦 = 𝑚𝑥 + 𝑝 𝑦 =

𝑚′𝑥 + 𝑝′.

𝑚 = 𝑚′

𝑑1 𝑑2 𝑦 = 3𝑥 + 4 𝑦 =

3𝑥 + 9 3



 

 

 

𝑑 𝑀

𝑀 𝑑

𝐻 𝑑 𝑑

𝑀

𝑀 𝑑

𝑑 𝑀

 

 

 

 

 



 

 

𝑥 𝑦

2𝑥 − 𝑦 = 0 3𝑥 − 4𝑦 = −5

{
2𝑥 − 𝑦 = 0       
3𝑥 − 4𝑦 = −5 

2

{
2 × 1 − 2 = 0            
3 × 1 − 4 × 2 = −5 


